

04240503

Contract Time: 365 CALENDAR DAYS

Florida Department of Transportation

05/03/2024

Vendor Ranking Page 1 of 1

Letting: May 03, 2024 10:30 AM Call Order: 004 Contract: E4X52-R0

Counties: PALM BEACH District: District 4 Fed Aid No: N/A

Contract Desc: PALM BEACH COUNTY DITCH CLEANING - ROUTINE MAINTENANCE

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MOVING EARTH INC.	Responsive	Winning bid	\$38,475.00	100.00%
2	HIGHER GROUND LAND SERVICES, LL	Responsive	Non-Winning Bid	\$45,750.00	118.91%
3	T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$49,000.00	127.36%
4	PI SOLUTIONS CONSULTING, LLC	Responsive	Non-Winning Bid	\$73,085.00	189.95%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: **BEGIN DATE:** 05/28/24 **BEGIN TIME:** 10:30 AM

> **END TIME:** END DATE: 05/31/24 10:30 AM

Project(s): 45126017201 (*)

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 35,000.00 and not the contractor's bid total.



05/03/2024Page 1 of 5

Tabulation of Bids

Letting: 04240503 May 03, 2024 **Call Order:** 004 **Contract:** E4X52-R0

District: District 4 Counties: PALM BEACH Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 45126017201 (*)

Contract Descr: PALM BEACH COUNTY DITCH CLEANING - ROUTINE MAINTENANCE

The work under this Contract consists of providing all labor, material, equipment and incidentals necessary to clean and reshape ditches, canals and ponds, mow, remove litter, apply herbicide and remove trees and brush on state roads in Palm Beach County.

ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$35,000.00 and not the contractors bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Alternate Item Description	Quantity Units	(1) MOVING I	EARTH INC.	(2) HIGHER GF SERVIC			IRONMENTAL,
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (F	ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (LI	F			
0005 E107 1 1 LITTER REMOVAL	10.000 AC	100.00000	1,000.00	50.00000	500.00	1,000.00000	10,000.00
0010 E107 2 3 MOWING (INTERMEDIATE MACHINE)	10.000 AC	100.00000	1,000.00	40.00000	400.00	100.00000	1,000.00
0015 E120 10 1 CLEAN AND RESHAPE DITCH (SPREAD)	3,000.000 LF	2.00000	6,000.00	3.00000	9,000.00	2.00000	6,000.00
0020 E120 10 2 CLEAN AND RESHAPE DITCH (HAUL	3,000.000) LF	4.50000	13,500.00	4.25000	12,750.00	2.00000	6,000.00
0025 E120 10 4 CLEAN AND RESHAPE CANAL (3.5' T 7.0' DEPTH)	3,000 . 000 O LF	3.00000	9,000.00	3.00000	9,000.00	2.00000	6,000.00



05/03/2024Page 2 of 5

Tabulation of Bids

Lettin	g: 04240503	May 03, 2024	Ca	II Order: 004		Contract:	E4X52-R0	·
	No / Item ID Alternate Description	Quantity Units	(1) MOVING	EARTH INC.	(2) HIGHER GF SERVIC			IRONMENTAL,
() inc	dicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (L	F			
0030 CLEAN DEPTH	E120 10 5 AND RESHAPE CANAL (> 7)	3,000.000 '.0' LF	2.00000	6,000.00	3.50000	10,500.00	2.00000	6,000.00
0035 TREE A	E580332 99 ND BRUSH REMOVAL	4.000 AC	300.00000	1,200.00	750.00000	3,000.00	1,500.00000	6,000.00
0040 HERBIO	E580337 2 CIDE (STRIP APPLICATION)	4.000 AC	150.00000	600.00	100.00000	400.00	1,500.00000	6,000.00
	E580337 4 CIDE (STRIP ATION)(AQUATIC)	1.000 AC	175.00000	175.00	200.00000	200.00	2,000.00000	2,000.00
	001 ROADSIDE DITCHES- S EAN AND RESHAPE (LF)	ection Totals:	1	\$38,475.00		\$45,750.00	I	\$49,000.00
	Contract G	rand Totals:		\$38,475.00		\$45,750.00		49,000.00



05/03/2024

Page 3 of 5

Tabulation of Bids

Letting:	04240503	May 03, 2024	Cal	Order: 004		Contract:	E4X52-R0	
Line No /		ate Quantity Units	(4) PI SOL CONSULT					
() indicates	item is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (LF	=			
0005 E10 LITTER REM	7 1 1 OVAL	10.000 AC	33.00000	330.00				
	7 2 3 TERMEDIATE MACH	10,000 HINE) AC	48.00000	480.00				
	0 10 1 RESHAPE DITCH	3,000.000 LF	5.00000	15,000.00				
	0 10 2 RESHAPE DITCH (I	3,000.000 HAUL) LF	5.50000	16,500.00				
	0 10 4 RESHAPE CANAL(3,000.000 3.5' TO LF	6.00000	18,000.00				
	0 10 5 RESHAPE CANAL(3,000.000 > 7.0' LF	6.50000	19,500.00				
	0332 99 RUSH REMOVAL	4.000 AC	475,00000	1,900.00				
	0337 2 STRIP APPLICATIO	4.000 N) AC	275.00000	1,100.00				
0045 E58 HERBICIDE (APPLICATIO		1.000 AC	275.00000	275.00				



05/03/2024

Page 4 of 5

「abulation o	Bids
--------------	------

Letting:	04240503	May 03, 2024	Ca	all Order: 004		Contract:	E4X52-R0	
Line No / Item		ite Quantity Units	, ,	LUTIONS TING, LLC				
•	n is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 (ROADSIDE DITCHES-CLEAN AND RESHAPE (LF

0001 ROADSIDE DITCHES- Section Totals: CLEAN AND RESHAPE (LF) \$73,085.00

Contract Grand Totals:	\$73,085.00	
------------------------	-------------	--



05/03/2024

Tabulation of Bids

Page 5 of 5

Letting: 04240503 May 03, 2024 **Call Order:** 004 **Contract:** E4X52-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.